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Directions:  For #1-12, find the area of each bounded region using both a vertical and a horizontal cross-section.

1.  Find the area of the region bounded by 
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2.  Find the area of the region bounded by 
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3.  Find the area of the region bounded by 
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4.  Find the area of the region in the first quadrant bounded by 
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5.  Find the area of the region bounded by 
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6.  Find the area of the region bounded by 
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7.  AP QUESTION -- No Calculator -- Find the area of the region between the graphs of 
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8.  AP QUESTION -- No Calculator -- Find the area of the region enclosed by the graph of 
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9.  AP QUESTION -- Calculator -- Find the area of the region enclosed by the graphs of 
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10.  AP QUESTION – No Calculator – Find the area of the region between the graph of 
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11.  AP QUESTION – Calculator – Find the area of the region in the first quadrant enclosed by the y-axis and the graphs of 
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12.  AP QUESTION – No Calculator – Find the total area enclosed by the curves 
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13.  AP QUESTION – No Calculator – If, for all real numbers 
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 the area of the region between the graphs of 
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A.  5
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C.  5b – 5a
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E.  5ab

14.  AP QUESTION – No Calculator – If the area enclosed by 
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15.  AP QUESTION – Calculator – The region bounded by the x-axis and the part of the graph of 
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